ASSEMBLY INSTRUCTIONS

And Specifications

%B ) ) ‘]f%j Material Specifications:
Capacity: 18 Bikes
1-5/8" O.D. Steel Tube
1 3 5 7 9 11 13 15 17 1/2" O.D. Solid Steel Rod
T S S S S S R €| Stainless Steel Hardware
2 4 6 8 10 12 14 16 18 .
Coating:
o L Polyester Powder Finish
r%[ = (Hot Dipped Galvanizing also available)
5/8" Dia. Holes for
ey - 275 Anchor Bolts
Ref. 550 (Not Included)
| |7 Ref
A*(] | | | DR
30.0
Overall
(- an [ - . =T
| | 19 ‘
‘ 118.5 Ref. | -~ 356 Ref. —————
120.8 Overall | =——— 37.1 Overall
ITEM NO. | DESCRIPTION PART NO. | QTY.

BIKE RACK ASSEMBLY, GRID TYPE, 18 BIKE, 10 FT
MODEL: BRG18-P (Painted Frame)

BIKE RACK FRAME,

Grid Style

BRACE F/ SURF. MNT. TRAD 18 BIKE RACK 51050600

LADDER F/ Grid Style 18 BIKE RACK

3/8-16 x 2.50 HHCS, SS 200000878

3/8 Flat Washer, SS

~N OO W N

HEX NUT, 3/8-16 SS

200009776

Q| OO | 0O =N N|H

WASHER, LOCK, 3/8 SS -

SHEET1 OF1 SCALE::24 08Mar10 REV:-

Dimensions shown are in Inches.

We have endeavored to insure that all product specifications listed on this drawing were correct at the time of publication.

We reserve the right to improve, alter, or discontinue specifications without notice.




ASSEMBLY INSTRUCTIONS
And Specifications

Capacity: 36 Bikes

Material Specifications:
1-5/8" O.D. Steel Tube

1/2" O.D. Solid Steel Rod
1 3 5 7 9 11 13 15 25 27 29 31 33 Stainless Steel Hardware
2 4 6 8 10 12 14 16 26 28 30 32 34 Coating:
Polyester Powder Finish
(Hot Dipped Galvanizing also available)
Linking * Anchor Bons
Plates (Not Included)
30.0
Overall
[ - - - N |
] | s | ‘
‘ 118.5 Ref. Il 118.5 Ref. w ——— 35.6 Ref. —
241.8 Overall ——— 37.1 Overall —=
BIKE RACK ASSEMBLY, GRID TYPE, 36 BIKE, 20 ft. N B ACK S RAVE, G St R
’ ’ ’ Y
2 BRACE F/ SURF. MNT. TRAD 18 BIKE RACK | 51050600 | 4
. 3 LADDER F/ Grid Style 18 BIKE RACK - 2
MODEL: BRG36-P (Palnted Frame) 4 3/8-16 x 2.50 :Hcsy,ess 200000878 | 16
. . 5 3/8 Flat Washer, SS N 8
MODEL: BRG36-G (Hot Dipped Galvanized Frame) T 2000088 | e
8 LINKING PLATE 3

SHEET 1OF1 SCALE: 1:24 08Mar10 REV:-

Dimensions shown are in Inches.
We have endeavored to insure that all product specifications listed on this drawing were correct at the time of publication.
We reserve the right to improve, alter, or discontinue specifications without notice.



ASSEMBLY INSTRUCTIONS
And Specifications

Capacity: 28 Bikes

(e
[ o)1

275
Linking Ref.
Plates ey = 990
Ref.
93.5 Ref. ! ! 93.5 Ref.

191.8 Overall

BIKE RACK ASSEMBLY, GRID TYPE, 28 BIKE, 16 ft.

MODEL: BRG28-P (Painted Frame)
MODEL: BRG28-G (Hot Dipped Galvanized Frame)

Material Specifications:

1-5/8" O.D. Steel Tube
1/2" O.D. Solid Steel Rod
Stainless Steel Hardware

Coating:

Polyester Powder Finish
(Hot Dipped Galvanizing also available)

5/8" Dia. Holes for

Anchor Bolts
(Not Included)

30.0
Overall

LI -

vl 1

19
- 356 Ref.

=—— 37.1 Overall —

ITEM NO. | DESCRIPTION PART NO. | QTY.
1 BIKE RACK FRAME, Grid Style - 4
2 BRACE F/ SURF. MNT. TRAD 14 BIKE RACK 51050600 4
3 LADDER F/ Grid Style 14 BIKE RACK - 2
4 3/8-16 x 2.50 HHCS, SS 200000878 | 16
5 3/8 Flat Washer, SS - 8
6 HEX NUT, 3/8-16 SS 200009776 | 16
7 WASHER, LOCK, 3/8 SS - 16
8 LINKING PLATE 3

SHEET10OF1 SCALE: 1:24  08Mar10 REV:-

Dimensions shown are in Inches.

We have endeavored to insure that all product specifications listed on this drawing were correct at the time of publication.

We reserve the right to improve, alter, or discontinue specifications without notice.



ASSEMBLY INSTRUCTIONS

And Specifications

e
o

: - 2 Material Specifications:
Capacity: 18 Bikes
1-5/8" O.D. Steel Tube
1 3 5 7 9 11 13 15 17 1/2" O.D. Solid Steel Rod
o[ S S N ¥ Stainless Steel Hardware
2 4 6 8 10 12 14 16 18 .
Coating:
o 9 Polyester Powder Finish
L%B . (Hot Dipped Galvanizing also available)
5/8" Dia. Holes for
- - 275 Anchor Bolts
Ref. 5.50 (Not Included)
| T Ref.
e [ A
K D1 -

30.0
Overall
my 0 I ; L
‘ ‘ 19 d ‘
‘ 118.5 Ref. | —~— 35.6 Ref.
‘ 120.8 Overall | 37.1 Overall ———
ITEM NO. | DESCRIPTION PART NO. | QTY.
BIKE RACK ASSEMBLY, GRID TYPE, 18 BIKE, 10 ft. TR T— "o, a1
. 2 BRACE F/ SURF. MNT. TRAD 18 BIKE RACK 51050600 2
MODEL: BRG18-P (Painted Frame) 3 LADDER F/ Grid Style 18 BIKE RACK - 1
4 3/8-16 x 2.50 HHCS, SS 200000878 8
. - i I 5 3/8 Flat Washer, SS - 4
MODEL: BRG18-G (Hot Dipped Galvanized Frame) 5——1-0i5 Flat Wasner. 55 T —
7 WASHER, LOCK, 3/8 SS - 8
Di i h in Inches.
SHEET 1 OF 1 SCALE: 1:24 08Mar10 REV:- We have endeavored to insure that all product specifications listed on this drawing were c;TrZr;flgtn;z ti?‘n:v;:fr;:;liggti::.

We reserve the right to improve, alter, or discontinue specifications without notice.




ASSEMBLY INSTRUCTIONS

And Specifications

2R
59

Capacity: 14 Bikes
1 3 5 7 9 11 13

2 4 6 8 10 12 14

275

Ref.
_ 550

Ref.

! 93.5 Ref. !

95.8 Overall

BIKE RACK ASSEMBLY, GRID TYPE, 14 BIKE, 8 ft.
MODEL: BRG14-P (Painted Frame)
MODEL: BRG14-G (Hot Dipped Galvanized Frame)

5/8" Dia. Holes for
Anchor Bolts
(Not Included)

Material Specifications:

1-5/8" O.D. Steel Tube
1/2" O.D. Solid Steel Rod
Stainless Steel Hardware

Coating:

Polyester Powder Finish
(Hot Dipped Galvanizing also available)

| = 1
— = i
. |
=——— 35.6 Ref.
——— 37.1 Overall ———
ITEM NO. | DESCRIPTION

BIKE RACK FRAME,

PART NO. | QTY.
Grid Style -

BRACE F/ SURF. MNT. TRAD 14 BIKE RACK

LADDER F/ Grid Style 14 BIKE RACK

3/8-16 x 2.50 HHCS, SS 200000878

3/8 Flat Washer, SS

HEX NUT, 3/8-16 SS

N OO AW N

WASHER, LOCK, 3/8 §S

0| o| A 0o| = NI N[

200009776

SHEET 10OF1 SCALE: 1:24  07May10 REV:-

Dimensions shown are in Inches.

We have endeavored to insure that all product specifications listed on this drawing were correct at the time of publication.

We reserve the right to improve, alter, or discontinue specifications without notice.




ASSEMBLY INSTRUCTIONS

And Specifications
= &

Capacity: 8 Bikes
1 3 5 7

5/8" Dia. Holes for

- 2R7f5 Anchor Bolts
e 5k (Not Included)
T Ref.
M\ 1 - A
< ' >
L— 56.0 Ref. !
58.3 Overall

BIKE RACK ASSEMBLY, GRID TYPE, 8 BIKE, 5 ft.
MODEL: BRG8-P (Painted Frame)
MODEL: BRG8-G (Hot Dipped Galvanized Frame)

Material Specifications:

1-5/8" O.D. Steel Tube
1/2" O.D. Solid Steel Rod
Stainless Steel Hardware

Coating:

Polyester Powder Finish
(Hot Dipped Galvanizing also available)

30.0
Overall

=——— 35.6 Ref.

37.1 Overall

ITEM NO.

DESCRIPTION

PART NO. | QTY.
BIKE RACK FRAME, Grid Style -

BRACE F/ SURF. MNT. TRAD 8 BIKE RACK

LADDER F/ Grid Style 8 BIKE RACK

3/8-16 x 2.50 HHCS, SS 200000878

3/8 Flat Washer, SS

HEX NUT, 3/8-16 SS

N OO WN

oo| oo A oo = N[ N[5

200009776
WASHER, LOCK, 3/8 SS -

SHEET10F1 SCALE: 1:24 07May10 REV:-

Dimensions shown are in Inches.

We have endeavored to insure that all product specifications listed on this drawing were correct at the time of publication.

We reserve the right to improve, alter, or discontinue specifications without notice.




